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1. IOZAY T BEFED) LITT7749 7R
JOTFENS, BFEOU AT LA ETDEL LIZRO XL I IZEZ TV D,
KA AT - FEREAE DB = 44 il
KT BB O/ MR, [Bl#R, FB8) =85
WAL D 2 2 ¥ = — Z [l b~ D FoR =85
Lo T, AV 7 (Eitd) OfETIE, ROL I —BRLEBNILY AT
LELT, fTWVEWEESTNS,
ks, BEh/s EOEE (EhE)
KT O JEFEE (44 5) > KT O FEAEAE (44 50)

2. JIZK DB TFERFOEBIEE (=47) L#FERE (=BF)
JOgl2 777 4w 7 AEMFEHL, UTOMBIZLVIERT S Z & &RifRICT 5,
gllines, glpolygon
- I OFEFMEOERITOZO L D MY A N3 5,
X0, YO, X1, Y1, X2, Y2, ... , Xn, Yn

- K oREL, BB, EEFERe . FOMBEEOEEAZ SED L HICEFRE L,

M DMEE; rotate

NB. eg. 30 rotate (x0, y0, x1, vl, .. , x0, y0)
rotate Figure(x0, y0, x1, yl, .. , x0, y0 ) around point(0, 0)
rot =1 3 0
Xy = y.
t = x
((x*cosd t) — (y*sind t)), ((x*sind t) + (y*cosd t))
)

rotate =: 3 : 0

ANG =. x.

RXY =. cut2 y.

RX =. {.”(1) > ANG rot L:0 RXY
RY =. {:7(1) > ANG rot L:0 RXY
, | RX,:RY

)

XFEOHBE) shift
NB. eg. (1, 2) shift x, y
shift Figure(x0, y0, x1, y1, .. , x0, yO ) to Position(x, V)
shift =1 3 : 0

"Xs Ys' = x.
, (Xs, Ys) +7(1) > cut2 y.
)



M BABEDOEM Y A F 2Ry 7 ARRITER  cut2
NB. cut2 i.10
NB. + } . : } .
NB. |0 1/2 3|4 5|6 7|8 9]
NB. + f f { f f
cut2 =: 3 : 0
y = ((=:#y.),2)8$y.
(D) vy
)
BEHBEL T, ZAFONEZBEERR colorpolyline

colorpolylines =: 3 © 0

glrgb x.

glbrush ’’

glpen 1 0

gllines , sz adjO y.

)

BEFTROBOREOME. K& IOFHE
adj0 =: 3 :0
1 adjo y.

NB. 500 + 100 * x. * y.

(x0, y0) + 7(1) > cut2 100 * x. * y.

NB. (500, 400) + (1) > cut2 100 * x. * vy.
)

3. BXFEHY Penrose RSB DI O DEHRNNZ — 0 L EERKZ A VOVER
AR_—Y 1 OADMESEIZ LT, WE & RIEDORIE O EBEE 2 H T 5,

PHI =: (1 + %: 5) % 2

KiteA =: 0, 0

KiteB =: PHI * (cosd 90 — (-: 72)), (sind 90 — (-: 72))

KiteHl =: PHI * (sind 90 — (-: 72))

KiteH2 =: 1 * (cosd (-: 144))

KiteC =: (0, (KiteHl + KiteH2))

KiteD =: PHI * (- cosd 90 — (-: 72)), (sind 90 — (-: 72))

Kite =: KiteA, KiteB, KiteC, KiteD, KiteA

Kitel =: , 180 rotate , > Kite

DartA =: 0, cosd 72

DartB =: (sind 72), 0
DartC =: 0, PHI*cosd (-: 72)
DartD =: (- sind 72), 0

Dart =: DartA, DartB, DartC, DartD, DartA



DENT, B & RGO DFEAFE A JTIc, JiEiD rotate Bhad & shift i &L -
THEFENZ =2 BT 5, (L DIAICRT)

Kite UEXIEZ 72° F oS E7-MEz b SflAabE 5,

DartKite RIEZIEDELITIIEIE 2 /LD 141F %,

KiteY Kite X% — > % L FElET 5,
Dart2 KiteV /N —|ZHfi35 X 9. RIEXKEEZ 2 Sz L THAGDE S,

LAY =T fiI

¥ T, 2oDHAS A L Pen & Penr & Z{E%,
FEARZ A )L Pen 1X Z 41 % 5 [R5 FREHE L C Penrose XEE2 2L 525D TH 5,

e

Fo, BRKZ A NWPenrid, ETELERHE L TESTLESTEHDEZIDLT2DD
HDTh D,

>
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4. Penrose ZA IV « VAT ADEFTOREE

K AT LOFHEIL Penrose # A IVIKE OS2I Z R T DX H HAATEN, ZOR
HiRkiEE 2T v T EIBST, EXEONLZONEBETELIHIICLIZZ EIZhD,
ZHDORY EFRTTZOIFEDTDTHDH, FTOKited NDHDORZ X, MK %
NEUAR A G o T, BEHRNZ— 2 Kite DIEKD FIEZ T,
FATIZOED X D ITBFEINCAT O

9. Kite R ¥ 2L CTHLEZ1ESD, HiV T DartKite, KiteY, Dart2 "% o %I
WIRF L | HECRADOZ A NVREBLIND, ZOESEIZPen0 R ¥ TH TX B,

Penl, Pen2, Pen3, Pend LK% I|ZIILTITZ 9, FHERD L, IR DFE
5o WIZ, PenrO AR X 24L& 5 EL DD, Hi&FERIC
Penrl, Penr2, Penr3, Penr4 & R % I|ZHfL TYT- C. Penrose ¥ A IWXIENZEKT 5.
BIERADIZIATZE LT LE -T2 L EITIE, vV ADLERE T, fi/h LT B
b, Flo, U AOERZ L TIE, KEOF.LEZONMEICBE S &, 44X 28000
ENNWRNI = B RIRIEDLTENTE L,

J Penrose Tile

File

Per0 | Penr0 |

Penl | Penrl |

P2 | Pene? |

Perd |  Penr3 |

Perd |  Penrd |
Penrose

Clear i
CDEHT ] ey |

KiteD | Kitel | Kite? | Kite3 | Kited | Kiteb |

NB. Penrose. ijs
NB. Penrose Tiling
NB. from wallpaper2.ijs



NB. by TN 2017/2/18
NB. for JAPLA 2017/3/11

require ' trig
require ' gl2’

PENROSE=: 0 : 0
pc penrose;pn “Penrose_Tile”;
menupop “File”;

A A A Y N

menu new ~&New ;

menu open “&0pen” *” 7" "

menusep

menu exit “&Exit” 77 7" 77,

menupopz

xywh 8 215 34 11;cc KiteO button;
xywh 297 215 34 11;cc cancel button;cn “Exit”;
xywh 6 8 231 201;cc PenTile isigraph;
xywh 45 216 34 11;cc Kitel button;
xywh 84 216 34 11;cc Kite2 button;
xywh 123 216 34 11;cc Kite3 button;
xywh 162 216 34 11;cc Kite4 button;
xywh 203 216 34 11;cc Kiteb button;
xywh 246 9 34 11;cc Kite button;

xywh 247 44 34 11;cc KiteY button;
xywh 253 197 34 11;cc Dartl button;
xywh 251 215 34 11;cc Clear button;
xywh 246 27 34 11;cc DartKite button;
xywh 249 82 34 11;cc Pen0O button;
xywh 249 98 34 11;cc Penl button;
xywh 249 116 34 11;cc Pen2 button;
xywh 249 132 34 11;cc Pen3 button;
xywh 249 148 34 11;cc Pen4 button;
xywh 249 164 34 11;cc Penrose button;
xywh 295 197 34 11;cc PenrA button;
xywh 293 81 34 11;cc PenrO button;
xywh 293 97 34 11;cc Penrl button;
xywh 293 116 34 11;cc Penr2 button;
xywh 293 132 34 11;cc Penr3 button;
xywh 293 149 34 11;cc Penr4 button;
xywh 248 63 34 11;cc Dart2 button;
pas 6 6;pcenter;

rem form end;

)

run =: penrose_run



penrose_run=: 3 : 0

wd PENROSE

NB. initialize form here
x0 = 500

y0 =: 500

sz =: 0.5

wd ~ pshow;’

)

penrose_close=: 3 : 0
wd’ pclose’

)

penrose_cancel_button=: 3 : 0

)

penrose_close’

)

penrose_Clear_button=: 3 : 0
glclear ”’
glshow ’’

)

NB.
adjo =: 3 : 0 NB. centered
1 adjo y.

NB. 500 + 100 * x. * y.

(x0, v0) + 7(1) > cut2 100 * x. * y. NB. y-axis down

NB. (500, 400) + “(1) > cut2 100 * x. * y. NB. y-axis down
)

adj =1 3 :0 NB. start left down
1 adj y.
NB.  (5008&+) @(100&x*)

200 + 40 * x. * y.
)

NB. cut2 i.10



NB. + } } : } }
NB. |0 1]/2 3|4 5/6 7|8 9|

NB. + t } t t }
cutz =: 3 : 0

y = ((=:#y.),2)$y.
<)y

)

NB. eg. 30 rotate figure(x0, y0, x1, yl, .. ) around (0, 0)
rot = 3 ¢ 0

t
((x*cosd t) — (y%sind t)), ((x*sind t) + (y*cosd t))
)

rotate =: 3 : 0

ANG =. x.

RXY =. cut2 y.

RX = {.”(1) > ANG rot L:0 RXY
RY = {:”(1) > ANG rot L:0 RXY
, |t RX,: RY

)

NB. eg. (1, 2) shift x, y
shift =: 3 : 0

"Xs Ys© = x.
, (Xs, Ys) +7(1) > cut2 y.
)

colorpolygon =: 3 : 0

glrgbh x.

glbrush >’

glpen 1 0
glpolygon , adjo y.
)

colorpolylines =: 3 : 0

glrgh x.
glbrush ’’



glpen 1 0
gllines , sz adjO y.

)

draw_xy =: 3 : 0
glrgb 0 0 0
glpen 1 0
gllines 10 500 990 500
gllines 500 10 500 990
)

color_pend =: 3 : 0

if. y. =0 do. glrgbh 255 0 0 end.
if. y. =1 do. glrgbh 255 255 0 end.
if. y. =2 do. glrgh 0 255 0  end.
if. y. =3 do. glrgh 0 0 2565  end.
glbrush >’

glpen 4 0

)

NB. Figure Kite

PHI =: (1 + %: 5) % 2

KiteA =: 0, 0

KiteB =: PHI * (cosd 90 — (-: 72)), (sind 90 — (-: 72))
KiteHl =: PHI * (sind 90 - (-: 72))

KiteH2 =: 1 * (cosd (-: 144))

KiteC =: (0, (KiteHl1 + KiteH2))

KiteD =: PHI * (- cosd 90 — (=: 72)), (sind 90 — (=: 72))
Kite =: KiteA, KiteB, KiteC, KiteD, KiteA

Kitel =: , 180 rotate , > Kite

penrose_KiteO_button=: 3 : 0
(0 0 0) colorpolylines Kite
draw_xy ’’
glshow ’’

)

penrose_Kitel_button=: 3 : 0
Kitel =: , 180 rotate , > Kite
(255 0 0) colorpolylines Kitel
glshow '’

)



penrose_Kite2_button=: 3 : 0

Kite2 =: , (1%72) rotate , > Kitel
(0 255 0) colorpolylines Kite2
glshow '’

)

penrose_Kite3d_button=: 3 : 0

Kite3 =: , (2%72) rotate , > Kitel
(0 0 255) colorpolylines Kite3
glshow *’

)

penrose_Kite4_button=: 3 : 0

Kited =: , (3%72) rotate , > Kitel
(0 255 255) colorpolylines Kited
glshow ’

)

penrose_Kiteb_button=: 3 : 0

Kiteb =: , (4%72) rotate , > Kitel
(0 0 0) colorpolylines Kiteb
glshow *’

)

penrose_Kite_button=: 3 : 0

Kites =: ((4%72) rotate Kitel), ((3%72) rotate Kitel), ((2%72) rotate Kitel),
(72 rotate Kitel), (0 rotate Kitel)

(0 0 0) colorpolylines Kites

glshow *’

)

penrose_KiteY_button=: 3 : 0

Kitess =: 180 rotate Kites

NB. KiteY =:, (0, (1 + 2% PHI)) +”(1 1) > cut2 Kitess
KiteY =: (0, (1 + 2% PHI)) shift Kitess

(0 0 0) colorpolylines KiteY

glshow ’’

)

NB. Figure Dart
DartA =: 0, cosd 72

DartB (sind 72), 0

DartC =: 0, PHI*cosd (—: 72)
DartD =: (- sind 72), 0

,10,



Dart =:

penrose_

Dartl =:
(0 0 0)

DartA, DartB, DartC, DartD, DartA

Dartl_button=: 3 : 0
, (0, PHI*(cosd —: 72)) shift Dart
colorpolylines Dartl

draw_xy ’’

glshow '’

)

penrose_DartKite_button=: 3 : 0

KiteR =.
NB. (0 0
KiteL =
NB. (00

DartRL =:

NB. (0 0
DartY =:
(0 0 0)

, ((0.15 + cosd 36), 0) shift Kite
0) colorpolylines KiteR

, ((-0.15 + cosd 36), 0) shift Kite
0) colorpolylines KitelL

KiteR, Dart, KiteL

0) colorpolylines DartRL

(0, PHI*(cosd —: 72)) shift DartRL
colorpolylines DartY

glshow ’’

)

penrose_Dart2_button=: 3 : 0

Dart30 =
Dart30x
A toD

Dart30y
Dart31 =
Dart32 =

Dart33 =.

Dart2 =:
(0 0 0)

., (36) rotate “(1) > cut?2 Dart

= (2 { _27}. Dart30), (2 }. Dart30) NB. start point from
= 2 { (2 { _21}. Dart30), (2 }. Dart30)
., (= Dart30y) shift Dart30x
., > (1, 1) % L:0 cut2 Dart3l
Dart31, Dart32
Dart34 =. , (0, (1 + 3%PHI)) shift Dart33 NB. global

colorpolylines Dart2

glshow ’’

)

penrose_
Kites =.
(72 rota

Kitess =.

PenkK0 =:
(00 0)

KiteR =
KitelL =.

Pen0_button=: 3 : 0

((4%72) rotate Kitel), ((3%72) rotate Kitel), ((2%72) rotate Kitel),

te Kitel), (0 rotate Kitel)

180 rotate Kites

(0, (1 + 2% PHI)) shift Kitess
colorpolylines PenKO

, ((0.15 + cosd 36), 0) shift Kite

, ((-=0.15 + cosd 36), 0) shift Kite

,11,

NB. global



DartRL =. KiteR, Dart, KiteL

PenDO =: (0, PHI*(cosd —: 72)) shift DartRL NB.

NB. PenO =: KiteY, DartY
(0 0 0) colorpolylines PenDO
(0 0 0) colorpolylines Dart2

glshow '’

)

penrose_Penl_button=: 3 : 0

PenKl =. , _72 rotate “(1) > cut2 PenKO

(0 0 0) colorpolylines PenKl

PenDl1 =. , _72 rotate “(1) > cut2 PenDO

(0 0 0) colorpolylines PenDl1

PenDD1 =. , 72 rotate “(1) > cut2 Dart2

(0 0 0) colorpolylines PenDD1

glshow ’

)

penrose_Pen2_button=: 3 : 0

Penk2 =. , (_2%72) rotate "(1) > cut2 PenKO
(0 0 0) colorpolylines Penk2

PenD2 =. , (_2%72) rotate "(1) > cut2 PenDO
(0 0 0) colorpolylines PenD2

PenDD2 =. , (_2%72) rotate (1) > cut2 Dart2
(0 0 0) colorpolylines PenDD2

glshow ’

)

penrose_Pen3_button=: 3 : 0

Penk3 =. , (_ 3%72) rotate “(1) > cut2 PenKO
(0 0 0) colorpolylines Penk3

PenD3 =. , (_3%72) rotate “(1) > cut2 PenDO
(0 0 0) colorpolylines PenD3

PenDD3 =. , (_3%72) rotate “(1) > cut2 Dart2
(0 0 0) colorpolylines PenDD3

glshow *’

)

penrose_Pen4_button=: 3 : 0

PenkK4 =. , (_4%72) rotate “(1) > cut2 PenKO
(0 0 0) colorpolylines Penk4

PenD4 =. , (_4%72) rotate “(1) > cut2 PenDO
(0 0 0) colorpolylines PenD4

PenDD4 =. , (L4%72) rotate (1) > cut2 Dart2

,12,

global



(0 0 0) colorpolylines PenDD4
glshow ’’

)

NB. Penrose whole figure

penrose_Penrose_button=: 3 : 0
glclear ’’

penrose_Kite_button
penrose_Pen0_button
penrose_Penl_button
penrose_Pen2_button
penrose_Pen3_button
penrose_Pen4 _button
penrose_Penr(0_button
penrose_Penrl_button
penrose_Penr2_button
penrose_Penr3_button
penrose_Penr4_button
glshow '’

)

0

NB. mouse left button => figure move to click position
penrose_PenTile_mbldown=: 3 : 0

d=. 7. sysdata

x=. (0{d) * 1000 % (2{d)

y=. (1{d) * 1000 % (3{d)

x0 = x

yo =1y
penrose_Penrose_button
penrose_Penr(0_button
penrose_Penrl_button
penrose_Penr2_button
penrose_Penr3_button
penrose_Penr4 button
penrose_Penr(0_button
penrose_Penrl_button
penrose_Penr2_button
penrose_Penr3_button
penrose_Penr4 button

)

)

0

NB. mouse right buton => figure size will be smaller
penrose_PenTile_mbrdown=: 3 : 0

sz =: 0.8 * sz
penrose_Penrose_button

)
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penrose_Penr(0_button
penrose_Penrl_button
penrose_Penr2_button
penrose_Penr3_button
penrose_Penr4_button
penrose_Penr0_button
penrose_Penrl_button
penrose_Penr2_button
penrose_Penr3_button
penrose_Penr4 button

)

penrose_PenrA_button=: 3 : 0

Dartl =: , (0, PHI*(cosd —: 72)) shift Dart NB. global used in Penro, .
Penr4

Kite3 =: , (2%72) rotate , > Kitel NB. global used in PenrO, .
Penr4

Kited =: , (3%72) rotate , > Kitel NB. global used in PenrO, .
Penr4

PenrA0 = , (0, ((1 + PHI)) ) shift Dart

PenrAl =. , (0, _0.61) shift Kite3

PenrA2 =. , (0, _0.61) shift Kited

PenrA4 =. Dartl, Kite3, Kite4

NB. (0 0 0) colorpolylines PenrA4

PenrA5 = , (0, (- 1+PHI)) shift PenrA4

NB. (0 0 0) colorpolylines PenrA5

PenrA6 =. , ((36) rotate "(1) > cut2 PenrA5

NB. (0 0 0) colorpolylines PenrA6

PenrA7 =. , (36) rotate “(1) > cut2 PenrAb

NB. (0 0 0) colorpolylines PenrA7

PenrA8 =: , (0, ((1+PHI)) ) shift PenrA6 NB.
Penr4

NB. (0 0 0) colorpolylines PenrA8

PenrA9 =: , (0, ((1+PHI)) ) shift PenrA7 NB.
Penr4

NB. (0 0 0) colorpolylines PenrA9

PenrA10 =: , (0, (-(1 + cosd 72) )) shift Dart NB.
Penr4

NB. (0 0 0) colorpolylines PenrAlQ

PenrAll =: , (72) rotate “(1) > cut2 PenrAl0  NB.
Penr4

NB. (0 0 0) colorpolylines PenrAll

PenrAl2 =: , (_72) rotate “(1) > cut2 PenrAl0 NB.
Penr4

,14,

global

global

global

global

global

used

used

used

used

used

in PenrO, .

in PenrO, .

in PenrO, .

in PenrO, .

in PenrO, .



NB. (0 0 0) colorpolylines PenrAl2
glshow ’’
)

penrose_Penr0_button=: 3 : 0
penrose_PenrA_button ’’

Penr08 =. , (_36) rotate "(1) > cut2 ,
(0 0 0) colorpolylines Penr08

Penr09 =. , (_36) rotate “(1) > cut?2 ,
(0 0 0) colorpolylines Penr09

Penr010 =. , (_36) rotate "(1) > cut2 ,
(0 0 0) colorpolylines Penr010
Penr011 =. , (_36) rotate “(1) > cut2 ,
(0 0 0) colorpolylines Penr011
Penr012 =. , ( 36) rotate “(1) > cut2 ,
(0 0 0) colorpolylines Penr012

glshow ’

)

penrn =: 3 : 0

PRN =. y.

penrose_PenrA_button ’’

Penr08 =. , (PRN % 36) rotate (1) > cut2 (0,
(0 0 0) colorpolylines Penr08

Penr09 =. , (PRN * 36) rotate “(1) > cut2 (0,
(0 0 0) colorpolylines Penr09

Penr010 =. , (PRN * _36) rotate (1) > cut2 (0,
(0 0 0) colorpolylines Penr010

Penr011 =. , (PRN % _36) rotate (1) > cut2 (0,
(0 0 0) colorpolylines Penr011

Penr012 =. , (PRN * _36) rotate "(1) > cut2 (0,
(0 0 0) colorpolylines Penr012

glshow ’

)

penrose_Penrl_button=: 3 : 0

penrn 3

)

penrose_Penr2_button=: 3 : 0

penrn 5

)

penrose_Penr3_button=: 3 : 0

(0, (1 + 2«PHI)) shift PenrA8
(0, (1 + 2%PHI)) shift PenrA9
(0, (1 + 2%PHI)) shift PenrAl10
(0, (1 + 2%PHI)) shift PenrAll

(0, (1 + 2%PHI)) shift PenrAl2

(1 + 2%PHI)) shift PenrA8
(1 + 2«PHI)) shift PenrA9
(1 + 2«PHI)) shift PenrAl0
(1 + 2«PHI)) shift PenrAll

(1 + 2«PHI)) shift PenrAl2
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penrn 7

)

penrose_Penr4_button=: 3 :

penrn 9

)

0
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